
Name:

Example

34512
12 ×  20 - 240

105
12 ×  8- 96

20 + 8 =  28

28 r 9

3-Digit by 2-Digit with Remainders

Solve using partial quotients.

Add up the multipliers 
of the divisor to find 
the answer.

Find an easy 
multiple of the 
divisor and 
subtract from 
the dividend. 
Repeat until the 
number is less 
than the divisor 
or you reach 
zero.

multipliers

remainder

dividend

divisor

4 5 1 5 6 3

Partial Quotients Division

68024
b. c.

a.

e. f.

d.

g.
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57913

94117 55629

71139

65831

9
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13 × 40-520

44 r7

13 × 4

40 + 4 =  44

10 + 8 =  18

-52
7

59

ANSWER KEY

Work will vary.

24 × 20-480

28 r8

24 × 8

20 + 8 =  28

-192
200

8

29 × 10-290

19 r 5

29 × 9

10 + 9 =  19

-261
5

266

55 × 10-550

15 r 4

55 × 5

10 + 5 =  15

-275
279

4

39 × 10-390

18 r9

39 × 8-312
321

9

17 × 50-850

55 r 6

17 × 5

50 + 5 =  55

-85
91

6

31 × 20-620

21 r 7

31 × 1

20 + 1 =  21

-31
38

7


